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Based on the reading, which of the following best describes the

meaning of the phrase, “they push the boundaries” (line 17)?

A.

B.
G.
D.

They work within established limits.
They maintain the existing state of affairs.
They made the movie a big success.

They are not realistic.

According to the reading, how did Farnsworth’s team of researchers

develop their simulation?

A.

They started by considering the physics of weather and climate
on Earth. They then added bits of information from Frank

Herbert’s novels and other sources.

. They started by considering the physics of weather and climate

as described by Frank Herbert. They then added bits of
information from Frank Herbert’s novels and other sources.
They started by considering the physics of weather and climate
as described by Frank Herbert. They then used their imagination
to speculate about how things would be similar on Arrakis.
They started by considering the physics of weather and climate
on Earth. They then used their imagination to speculate about

how things would be similar on Arrakis.
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3. Based on the reading, what are “nuggets of information” (line 31)?
A. Abstract information.
B. Relevant information.
C. Dry information.

D. Insignificant information.

4. According to the reading, what are two important differences

between the atmosphere of Arrakis and the atmosphere of Earth?

A. There is much less carbon dioxide on Arrakis. However, there is
much more ozone in the lower atmosphere of Arrakis.

B. There is much more carbon dioxide on Arrakis. There is also
much more ozone in the lower atmosphere of Arrakis.

C. There is much less carbon dioxide on Arrakis. There is also
much less ozone in the lower atmosphere of Arrakis.

D. There is much more carbon dioxide on Arrakis. However, there

is much less ozone in the lower atmosphere of Arrakis.

5. What does “scrub” (line 48) mean, as it is used in the reading?
A. Crush.
B. Monitor.
C. Collect.
D.

Remove.
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6. According to the reading, what problem could be caused by lots of

ozone in the lower atmosphere?

A. It can lower the temperature of the planet, especially at the
poles.

B. A high percentage of ozone in the lower atmosphere can kill
humans.

C. More scrubbing will be required to replace ozone in the upper
atmosphere.

D. It can increase the carbon dioxide levels in the lower

atmosphere.

7. The author of this reading wrote, “Unfortunately for Dune fans, ...”

(line 52). What does the author mean?

A. Fans of Dune movies and books are likely to be disappointed
when they watch the movie Dune: Part Two.

B. Fans of Dune movies and books are likely to be disappointed
with the findings of Farnsworth and his team.

C. Fans of Dune movies and books are likely to be disappointed
that Alpha Carinae might not have any planets.

D. Fans of Dune movies and books are likely to be disappointed to

learn that life on Arrakis would be extremely difficult.
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8. According to the reading, which best describes Alexander

Farnsworth and his team?

A. They are a team of researchers who calculated the largest
possible size of a giant sandworm which could feasibly live on
the fictional planet, Arrakis.

B. They are a team of researchers who conducted a computer
simulation of the climate on Arrakis, a fictional planet in the
Dune novels and movies.

C. They are a team of researchers who simulated a realistic giant
sandworm for the Dune novels and movies.

D. They are a team of researchers who made computer simulations
of the climate on Arrakis to create a realistic fictional planet for

the Dune novels and movies.

9. Which best describes Patrick Lewis of Sam Houston State
University in Huntsville, Texas?
A. Alecturer on simulating realistic models for novels and movies.
B. Alecturer on film studies.
C. A scientist who studies climate change.
D.

A scientist who studies life forms.
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10. Based on the reading, which of the following is true about worm
bodies on Earth?

A. Worms have evolved independently multiple times. In addition,
worms on Earth may or may not have bones and often absorb
oxygen through their skin.

B. Worms have evolved independently multiple times. In addition,
worms on Earth may or may not have bones and always absorb
oxygen through their skin.

C. Worms have evolved independently only once. In addition,
worms on Earth may or may not have bones and often absorb
oxygen through their skin.

D. Worms have evolved independently multiple times. In addition,
worms on Earth do not have any bones and often absorb oxygen

through their skin.
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11. According to Patrick Lewis, which of the following best describes

why it is unlikely that there could be giant sandworms on Arrakis?

A.

Such large worms would be too heavy, would produce too much
carbon dioxide, and would have problems getting enough
oxygen.

Such large worms would produce too much carbon dioxide,
would have problems getting enough oxygen, and would
generate too much heat.

Such large worms would be too heavy, would have problems
getting enough oxygen, and would generate too much heat.
Such large worms would be too heavy, would produce too much

carbon dioxide, and would generate too much heat.

12. In the reading, what reason does Patrick Lewis mention about why

whales are able to grow to extremely large size?

A.

Whales live in water, which helps prevent them from
overheating.

Whales live in water, which helps support their large size.
Whales live in water, where they usually do not need to fight
other large animals.

Whales live in water, where they can find enough food.
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13. Why are Zygaspis worms able to live in an environment where

temperatures can reach 45°C?

A. Because they are fairly small, they do not need very much
shade.

B. Because they are fairly small, they can absorb enough oxygen
through their skin.

C. Because they are fairly small, they can get rid of extra heat.

D. Because they are fairly small, they do not need very much

water.

14. What does “colossal” (line 131) mean, as it is used in the reading?
A. Very large.
B. Very dangerous.
C. Very hot.
D. Very strong.

#== [3 == OM2(612—34)



15. Which of the following best summarizes the reading?

A.

A team of scientists simulated the climate on the fictional planet
Arrakis. They concluded that Frank Herbert, the creator of the
novel, should be praised and awarded for his creativity and
ability create a plausible planet.

A team of scientists simulated the climate on the fictional planet
Arrakis. They concluded that some of Frank Herbert’s ideas are

plausible, but he made too many mistakes.

. The fictional world of Arrakis would be a difficult, but not

impossible, place for humans to live. They would need
advanced technology and support from outside the planet. They
would not need to take precautions against giant and dangerous
animals.

The fictional world of Arrakis would be a difficult, but not
impossible, place for humans to live. They would need
advanced technology and support from outside the planet, so it

would be better for humans to live on other planets.
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Beans, C. (2024, January 12). Why is rice so popular? TEDEJ.

https://ed.ted.com/lessons/why-is-rice-so-popular-carolyn-beans
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1. Is the use of generative Al (4 5% Al) for studying beneficial for
high school and university students? Why or why not?

OR

2. Should the consumption tax rate in Japan be lower for some
products, such as children’s clothes, textbooks, and school

supplies? Why or why not?
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